

Republic of the Philippines Office of the President

PHILIPPINE SPORTS COMMISSION



REQUEST FOR QUOTATION

The Philippine Sports Commission, through its Bids & Awards Committee, invites interested **PHILGEPS-accredited** suppliers to **submit SEALED signed quotation/s** for:

Particular		Qu	antity				ABC (PHP)	Place o
		Description	Qty	Unit	Unit Cost	Total Cost		
Supply and Delivery of Customized	1	VOLLEYBALL TROPHY,		D	0.400.00		251,742.00	San Jose de
rophy for Hon. ntonio "AA" egarda ongressman up 2023		(CHAMPION) as per design Specifications: Printed Acrylic Glass with Wood Base Body:	4	Pcs	2,400.00	9,600.00		Buenavis , Antique
ournament		Material: Printed Acrylic Glass Dimensions: 8.5in x 4.8in & 4.6in x 5mm						
		Diameter of Circle: 4.4 Inches Base:						
		Material: Wood Dimension: 2.6in x 4.8in x 2in						
	2	UV Laser Printing for base detail VOLLEYBALL TROPHY, (1st Runner-Up) as per design	4	Pcs	1,500.00	6,000.00		
		Specifications: Printed Acrylic Glass with Wood Base						
		Body: Material: Printed Acrylic Glass						
		Dimensions: 7.5in x 4.2in & 3.8in x 5mm						
		Diameter of Circle: 3.2 Inches Base:						
		Material: Wood						
	3	Dimension: 2.3 in x 4.2in x 2in UV Laser Printing for base detail						
	3	VOLLEYBALL TROPHY, (2nd Runner-Up) as per design	4	Pcs	999.00	3,996.00		
		Specifications: Printed Acrylic Glass with Wood Base						
		Body:						
		Material: Printed Acrylic Glass Dimensions: 6.5in x 3.5in & 3in x 5mm						
		Base:						
		Material: Wood Dimension: 2 in x 3.5in x 3in UV Laser Printing for base detail						
	4	BASKETBALL TROPHY (CHAMPION) as per design	18	Pcs	4,950.00	89,100.00		
		Specification: Printed Acrylic Glass with Wood Base			A (11 mm			
		****more on the next page***						

	Body: Material: Printed Acrylic Glass Dimensions: 12in x 7.1in & 5.8in x 5mm Diameter of Circle: 5.4 Inches Base:					
	Material: Wood Dimension: 4in x 7.1in x 3in UV Laser Printing for base detail 5 BASKETBALL TROPHY					
	(1st Runner-Up) as per design	10	Doo	2 000 00	52 082 00	
	Specifications: Printed Acrylic Glass with Wood Base Body: Material: Printed Acrylic Glass Dimensions: 10in x 6in & 4.9in x 5mm Diameter of Circle: 4.5 Inches Base:	18	Pcs	2,999.00	53,982.00	
	Material: Wood Dimension: 3.37 in x 6in x 3in UV Laser Printing for base detail BASKETBALL TROPHY					
	(2nd Runner-Up) as per design Specifications: Printed Acrylic Glass with Wood Base Body: Material: Printed Acrylic Glass Dimensions: 8in x 4.7in & 4in	18	Pcs	1,950.00	35,100.00	
	x 5mm Diameter of Circle: 3.6 Inches Base: Material: Wood Dimension: 2.6in x 4.7in x 2.6in UV Laser Printing for base detail					
	7 BASKETBALL TROPHY (3x3 CHAMPION) as per design Specifications: Printed Acrylic Glass with Wood Base Body: Material: Printed Acrylic	36	Pcs	1,499.00	53,964.00	
	Glass Dimensions: 8in x 5.7in & 4.4in x 5mm Diameter of Circle: 3.8 Inches ***more on the next page***					

Base:

Material: Wood

Dimension: 2in x 5.7in x 2in

UV Laser Printing for base
detail

nothing follows

Note: All items must be delivered to San Jose de Buenavista, Antique

Delivery Terms: Ten (10)

Calendar days

The following documents must be submitted from 13 October 2023 to 16 October 2023 at 5:00 pm, directly to the Bids and Awards Committee Secretariat Office, located at Room 207, Admin. Building, RMSC, P. Ocampo Sr. St. Malate Manila:

1. PHILGEPS Registration or PHILGEPS Certificates

2. Notarized Omnibus Sworn Statement

3. 2023 Mayor's/Business Permit

Quotations must be properly labeled with the reference number on the project offered. In case the deadline falls on a non-working day, legal holiday, or special non-working holiday, the deadline shall be on the next working day.

For additional information, please contact the Procurement Office at Telefax: 523-9831 Loc. 175/143

The Commission reserves the right to not accept any and all quotations or not award the contract on the following grounds:

- There is prima facie evidence of collusion;

- The BAC failed to follow prescribed procurement procedures; and or

- There are justifiable grounds where the contract will not redound to the benefit of the government without incurring any liability to the affected bidder/s.

PAULO FRANCISCO)C. TATAD

BAC Chairman

RFO10132023

Date Posted on Philgeps and PSC website: October 13, 2023

SAMPLE DESIGN OF TROPHY

PRINTED ACRYLIC GLASS - BODY



WOOD - BASE

PRINTED ACRYLIC GLASS - BODY



WOOD - BASE

PRINTED ACRYLIC GLASS - BODY



WOOD - BASE